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7.222 - 5.999 - 1.079

[ 2
> HEh: 0.144

7.222 - 5.999 — 1.079 = 1.223 — 1.079 = 0.144
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@ 1.54+28=182
@)151+25=134

® 1.54+28 =434
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@ 1.54+28=182

@ 1.54+2.8 =334
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|l J Zl_
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L
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290f 7122 137cm o],
3o 72L& 135cm | B2

2cm Ao]7F gy
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> e 5000 8]
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&= 300 , ©= 0.06
300 = 0.06 x 5000

wehA 300-2 0.06 2] 5000 Bl G T},
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AR A} B AR A2 758 2 A

tlo

JIEAQ,

@ 2.68 +2.576 © 0.94 +4.17

® 6.213 - 1.865 ® 8-2111

® 0-6-66 @ 0-6-e-© ® 6-0-06

@e-cae 6 eoeo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 - 1.865 = 4.348

® 8-2.111 = 5.889

&0 A7) Ads H20] 245 A4, Adert ged
A A2, EA4) 242, A A4 0] =02 2718 Hlu g
m2tA ALt A7t A2 AR H A2 7128 2 ©-O-
o] FYrt.

s
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&apo] A7]E Hlaste] 22 SHH 7|98 AR 2 S T EAL.

& 90.296 © 99.300 © 00.158
O -0-© @ 0-0-0 ® ©-6-©
® 06 ®e-a-0
@ 95 Y2 99.296
©°f 95 Y21 99.399
©°ll 95 Y2 ™ 90.158
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@ 25.179] E?J 4= © 0.5299] 100H1¢1 4=
1

© 623.59] 00 Q4 @ 3.0059] 10H[21 &=

® 060 @ ©608e 0066
@oaee 6 e6e0

B

@ 2.517

© 52.9

® 6.235

@ 30.05

=2+ 57F et = 48 242 std
@ 0.5 © 50 ® 0.005 @ 0.05
-0>0>>0




15. the 5 3 7Pg 2 SolA Uuid 48 B W ghe 7

6.231, 17, 0.154

>
> ®E: 10615

P2 e 1TIRR
17— 6.231 — 0.154 = 10.769 — 0.154 = 10.615 Y T}.
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100 9#e] 53 170 4.87golal, 50 @72 54 17= 3.9gol=tL
Ut 1009 A2 54 271 50 9] 54 37 F o] AHo] ¥
g O FAA] FokA L.

@ 100 2742 54 2707k 186 ¢ o FHL U
@ 5092 T4 37171 1.86¢ | FHSH.
@ 1009%2] &4 2717F 1.96 g H FHEUH.
@)s0 9744 52 3747t 1965 B TAEU.

® 100 9742 FA 2717} 197 B FHFUL

(100 Q48] TA 27])= 4.87 + 4.87 = 9.74( g)
(50942 54 370)=3.9+3.9+3.9 =11.7(g)
11.7-9.74 = 1.96(g)
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@ 0.38+0.84 © 1.84-0.17
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® 0066 @o0ese ® 000
@ ©.6.00 ® ©6.0.0
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@ 0.38 4 0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47+0.5=0.97

© 1.9-0.62 =1.28

wabA] 0.97 < 1.22 < 1.28 < 1.67 4 Th

A Ayl 2 AL YR 7132 2H O, ©, @, ©dUh
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11 9 9 7
— 4= = p 1—
D535 @435 © 3% @25 &)
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B 41— =3
Gl T) + T 3157
11 2 9
HEM =3—-1—=2—
(o1 &) 37 7115 T 215
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2 1

@60§W @60§W ® 61= W
1 2

@ 61- W @62§W

12-10 = 2(A17H= 120(&) o] 1, 7I250] 72 Zot AA 5 2

40‘1

2
oAl 7E2-50] AAZI7HA & 92°] Y.
120 +9 = 13---32 92 5¢t 7t=5o] AX = S 724
13901,
U7 32 % oA 7k250] AR AlZke] Ut

S48 1420] 2 Wel Welo] Bastnz
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66.cm

A7Fgo|BE (15 x 2) + (9 x 4) = 30 + 36 = 66( cm)
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cenel 27 dutdyzt?
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| 23° - o
> = 2
> ®e: 42°
oS L 5 2te] 27]7} ek
(Ztre)=23°
(ZF 7L T)=180° - (23° +23°) = 134°
(Zcra)=46°= (4 rLar)
(ZtLe2)=180° - (46° + 46°) = 88°
(Zt2en) =180° - (88° +23°) =69°
=(Zz2nr)
webA (ZF C2n)=180° - (69° 4 69°) = 42° o]t}
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2.875 = 2+ 0.8 4 0.07 4 0.005

3.0683 = 3 + 0.06 + | |+ |
@ 0.8,0.03 @ 0.8,0.0003 ® 0.08,0.0003
@ 0.008,0.003 @0.008, 0.0003

&4 A A 2270 o] B2 YEHA| efot: Hur.
3.0683 = 3+ 0.06 + 0.008 + 0.0003
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124kgolT, @ 1749t © 1749 BA2] F& 38kgUTE. @ 1
o] BAE B kgelA] FoHAlL.

(@ 170)+(© 17H)= 3.8kgo| B &

(@ 270+ (O 270)=3.8+3.8=7.6( kg)
@ 27 +(© 47H)=12.4kgo| B &

@ 270)+(© 270)+(O 27H)= 12.4°4
76+ (O 270)= 124, (O 270)= 4.8

(© 17)= 4.8 + 2 = 2.4(kg)

(@ 170)=3.8 - 2.4 = 1.4(kg)
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—— 7.504km
13,524 km
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= 13.524 — 7.504

= 6.02(km)

(HellA 71 o] A=) =(7Holl A Bzt 2] A2~ (7Fll A Y7k
#e] A9)

=6.02-3.73

= 2.29(km)

7}
3.73 | Y
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3.409|
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7k 4 o af
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